New instruction:

What are the register transfers, (-operations, and signals for a new instruction:

ADDMEM XXX
RAM[XXX] + ACC ( RAM[XXX]

Use the datapath handed out in class.

There were already 4 instructions defined for the datapath handed out in class so adding this instruction would mean there would be a total of 5 instructions in the instruction set. In the instruction format we only have 2 bits in the opcode. This means that we’d need another bit in the opcode if we were to still implement the other 4 instructions in order to have a unique opcode for each instruction. I’m not going to worry about that here. Let’s just assume it’s replacing ADD. Assume instruction ahs already been fetched.
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(finish write cycle. Avoid bus conflicts
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Another way:
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PS.  CS.L( means falling edge transition.

